Confirmation



KWDJ-AM Adelman Broadcasting Inc 42010 50th Street West Quartz Hill CA 93536 661-718-1552 ph 661-718-1553 fax

Contract #
Date Entered
Sales Person
Billing Cycle

20828 04/08/24

Person COLLEEN WARDLAW Broadcast

Revenue Source
Revenue Type
Conflict 1
Estimate #

COCAL AGENCY
POLITICAL
POLITICAL
KWDJ202404091

KWDJ202404091635304 REV 1

Contract 04/15/24 - 05/08/24

VINCE FONG FOR CONGRESS 2024 C/O THE BATTIN GROUP 126 E WILLIS LANE RENO NV 89511

Date/Time	Schedule	Len	Avail Type			
04/15/24-04/21/24	30xWThF	01:00		Rate	Qty	Total
6:00a-7:00p	All Weeks		- Conte	7.00	30	210.00
05/06/24-05/08/24 6:00a-7:00p	18xMTW All Weeks	01:00	COMMERCIAL	7.00	18	126.00
04/15/24-05/05/24 6:00a-7:00p	6xS All Weeks	01:00	COMMERCIAL	7.00	18	126.00
04/15/24-05/05/24 6:00a-7:00p	6xSu All Weeks	01:00	COMMERCIAL	7.00	18	126.00
04/22/24-05/05/24 6:00a-7:00p	30xMTWThF All Weeks	01:00	COMMERCIAL	7.00	60	420.00
				Subtotal		1008.00
				Agency Commission	\rightarrow	
				Total	-	151.20
D. I. II				Total		856.80

Projected Billing				
April		Count	Gross	Net
May	2024	84	588.00	499.80
	2024	60	420.00	357.00
		144	1008.00	856.80

Customer	Sales Person	1		
		_		

Rotation

Date/Time

Days

ADVERTISER: Vince Fong for Congress 2024

CAMPAIGN: Ridgecrest - Special General - Radio - Rev 1

FLIGHT DATES:04/15/24 - 05/08/24

MARKET: Ridgecrest, CA

DEMO: P 35+

REV: 1 ORDER

ORDER #: KWDJ202404091635304 VENDOR: KWDJ-AM

Owner Group: Adelman Broadcasting ATTN: Colleen Wardlaw

ColleenWardlaw@gmail.com



The Battin Group, Inc. 126 E Willis Ln Reno, NV 89511

Buyer's Email: jim@jimbattin.com Phone: (760) 534-5001 Buyer: Jim Battin

Radio - Ridgecrest, CA

	5 6:	4 6	ω 6	2 6	1 6	##
	6:00A to 7:00P M T W R F	6:00A to 7:00P Su	6:00A to 7:00P Sa	6:00A to 7:00P M T W	6:00A to 7:00P W R F	Days
	:60	:60	:60	:60	:60	Len
	\$7.00	\$7.00	\$7.00	\$7.00	\$7.00	Gross Rate
	DA	××	×	DA	DA	무
	COUNTRY	WK COUNTRY	COUNTRY	COUNTRY	COUNTRY	Format
42	0	6	6	0	30	Apr 15
42	30	6	6	0	0	Apr 22
42	30	6	6	0	0	Apr 29
18	0	0	0	18	0	May 06
144	60	18	18	18	30	Tot Spots
\$1,008.00	\$420.00	\$126.00	\$126.00	\$126.00	\$210.00	Gross Cost

Ollen Hadden

ADVERTISER: Vince Fong for Congress 2024

FLIGHT DATES:04/15/24 - 05/08/24 **CAMPAIGN:** Ridgecrest - Special General - Radio - Rev 1

DEMO: P 35+ MARKET: Ridgecrest, CA

Weekly Totals

Week Gross Cost Spots

04/29

04/22 04/15

05/06

Total

\$1,008.00 \$126.00 \$294.00 \$294.00 \$294.00

144 18 42 42

> REV: 1 ORDER

Owner Group: Adelman Broadcasting ORDER #: KWDJ202404091635304 VENDOR: KWDJ-AM

ColleenWardlaw@gmail.com

ATTN: Colleen Wardlaw

The Battin Group, Inc. 126 E Willis Ln Reno, NV 89511

Phone: (760) 534-5001 Buyer: Jim Battin

Buyer's Email: jim@jimbattin.com

Battin Group

CANDIDATE ADVERTISEMENT AGREEMENT FORM

See Order for proposed schedule and ch	narges. See Invoice for actual schedule and charges.			
I, Jim Battin The Battin Group, hereby request station time as follows:				
IDENTIFY CANDIDATE TYPE	FEDERAL CANDIDATE STATE OR LOCAL CANDIDATE			
ALL QUESTIONS/E	SLOCKS MUST BE COMPLETED			
Candidate name:				
Vince Fong				
Authorized committee:				
Vince Fong for Congress				
Agency requesting time (and contact information):				
N/A The Battin Group, 126 E Willis Ln, Reno NV	89511			
Candidate's political party:				
Republican				
Office sought (no acronyms or abbreviations):				
Congress - CA20				
Date of election: May 21, 2024	✓ General Primary			
Treasurer of candidate's authorized committee:				
Becca Luby				
The undersigned represents that:				
1) the payment for the broadcast time requested has be	een furnished by (check one box below):			
the candidate listed above who is a legally qualif	ied candidate, or			
the authorized committee of the legally qualified	candidate listed above;			
2) this station is authorized to announce the time as paid				
 this station has disclosed its political advertising polici and other sales practices (not applicable to federal ca 	ies, including applicable classes and rates, discount, promotion andidates).			
THIS STATION DOES NOT DISCRIMINATE OR PERMIT N THE PLACEMENT OF ADVERTISING.	DISCRIMINATION ON THE BASIS OF RACE OR ETHNICITY			
Candidate/Committee/Agency	Station Representative			
iignature: Jones Battor, 9	Signature: Policen Walden			
Name: Jim Battin The Battin Group	Name: COLLEEN WARDOW			
Pate of Request to Purchase Ad Time: 4/08/2024 Date of Station Agreement to Sell Time: 4/08/2024				

, (2) contains a clearly identifiable p and a simultaneously displayed prir : and that the candidate and/or the	pursuant to this disclosure either (1) does not refer shotograph or similar image of the candidate nted statement identifying the candidate, that e candidate's authorized committee paid for the by the candidate that identifies the candidate, ast.
e/Agency	
	ned by James F Battin)4.07 12:55:19 -07'00'
O BE COMPLETED BY STAT	TION ONLY
es No Date ad I	received: 1/19/2024
	(i.e., for every ad with differing copy).
above): Yes	No N/A
oy not yet received to determine sporomptly upload updated final formg., insufficient sponsor ID tag):	
Station Call Letters:	Date Received/Requested:
Station Location: RIDGECREST	Run Start and End Dates:
time purchased, when spots actual will not upload the actual times so	ocuments reflecting this transaction to the OPIF or ally aired, the rates charged and the classes of time pots aired until an invoice is generated, the name be placed in the "Terms and Disclosures" folder in
	(2) contains a clearly identifiable pand a simultaneously displayed pri and that the candidate and/or the ntains a personal audio statement andidate has approved the broadce/Agency Digitally sign Date: 2024. Digitally sign Date: 2024. O BE COMPLETED BY STA See No Date ad rms for each version of the ad above): Yes Pay not yet received to determine sign, insufficient sponsor ID tag): Station Call Letters: Station Location: Traffic system print-out) or other do time purchased, when spots actual times is a will not upload the actual times in the content of the c